 All + sense stranded

Ligation  5’  C0261 + I13504  3’
Cutting

I13504 (insert)
Cut with X and P     

Expected Size = 875bp

C0261 (vector)
Cut with S and P

Expected Size = 661 + 2079= 2740 bp
Primers

· caactagcagaccat  I13504 
· acggttatccacagaatca  Plasmid pSB1A2

Fragment size  329bp in the 3’ direction (part) and 117 bp in 5’ direction (plasmid)  Total size = 446 bp

fv

Ligation 5’ B0034 + C0062  3’  

Cutting
C0062 plasmid (insert)
Cut with X and P 

Expected Size = 756bp
B0034 plasmid (vector)

Cut with S and P

Expected Size = 12 + 2079 = 2091bp
Primers

· catgcgtgtatgaac   C0062  
· acggttatccacagaatca  Plasmid psb1A2

Fragment size Gives 300 bp in the 3’ direction (part) and 117 bp in the 5’ direction (plasmid) Total size = 417 bp

OR
· acatcaggtcttatc  C0062
· acggttatccacagaatca  Plasmid pSB1A2

Fragment Size Gives 414 in the 3’ direction (part) and 117 in the 5’ direction (plasmid) Total Size = 531 bp 

fv
Ligation  J37015 = F2620+(C0261+ I13504 )

Cutting
(C0261 + I13504 ) (insert)
Cut with X and P

Expected size = 661 + 875 = 1536bp
F2620 
Cut with S and P (vector)
Expected size = 1061 + 2079 = 3140bp

Primers

· caactagcagaccat  (C0261 + I13504 )
· acggttatccacagaatca  Plasmid pSB1A2

Fragment size = 329bp in the 3’ direction (part) + 117 in 5’ direction (plasmid) Total size = 446 bp

fv
Ligation  J37019 = R0062 + (5’ B0034 C0062  3’)  
Cutting

B0034 + C0062   (insert)

Cut with X and P


Expected size = 12bp + 756bp = 768bp
R0062 (vector)

Cut with S and P

Expected size = 55bp + 2079bp = 2134bp
Primers

· catgcgtgtatgaac  ( B0034 + C0062 )  
· acggttatccacagaatca  Plasmid pSB1A2

Fragment size  300 bp in the 3’ direction (part) + 117 bp in the 5’ direction (plasmid) Total size = 417 bp

OR
· acatcaggtcttatc  ( B0034 + C0062 )  
· acggttatccacagaatca  Plasmid pSB1A2

Fragment Size  Gives 414 in the 3’ direction (part) + 117 in the 5’ direction (plasmid) Total size  = 531 bp 
fv

Ligation  5’  I13033 + I13504 3’
Cutting

I13504 (insert)
Cut with X and P
Expected size = 875bp
I13033 (vector)
Cut with S and P

Expected Size = 192bp + 3189bp = 3381bp
Primers

· Caactagcagaccat   I13504

· cgttatgcaggcttcctcg   plasmid  Psb1ak3
Fragment size  329 in the 3’ direction (part) + 108 in the 5’direction (plasmid)  total size = 437bp
Or
· cggttatccacagaatca   I13504

· cggttatccacagaatca  Plasmid Psb1ak3
Fragment size  329 in the 3’ direction (part) + 195 in the 5’ direction (plasmid) Total size = 524 bp
FV
Ligation J37016 = J37019 + I13504
Test construct J37016 to test predator cell.  J37019 is pLuxR promoter with LuxR protein coding region.  I13504 is RBS + GFP + terminator DNA sequence.

Cutting

I13504 containing plasmid (insert)
Cut with X and P 
Expected size = 875bp
J37019 containing plasmid (vector)
Cut with S and P
Expected size = 862 bp + 2079bp = 2931 bp
Primers

· Caactagcagaccat  - found on I13504
· Acggttatccacaga  - found on plasmid pSB1A2

Fragment size = 329bp in the 3’direction (part) + 117 in 5’direction(plasmid)  
Total size = 446bp

Fv/js

Ligation J37020=J37019 + (I13033 + I13504)
Makes part J37020, test construct for predator cell.  
Cutting

I13504 + I13033 containing plasmid (insert)
Cut with X and P 
Expected size = 875bp + 192bp = 1067
J37019 containing plasmid (vector)
Cut with S and P
Expected size = 862 bp + 2079 bp = 2941 bp
Primers

· caactagcagaccat – found in part I13504
· acggttatccacaga - found in Plasmid psb1A2

Fragment size = 329bp in the 3’direction (part) + 117 in 5’direction(plasmid)  
Total size = 446bp

Fv/js

Ligation J37019 + I13033
Ligation to form part of J37020 (Predator Cell test construct).  J37019 is pLuxR promoter with LuxR protein coding region.  I13033 is a terminator with pLuxR promoter.

Cutting

I13033 containing plasmid (vector)
Cut with E and X 
Expected size = 192bp
J37019 containing plasmid (insert)
Cut with E and S

Expected size = 862 bp
Primers

· acctgtaggatcgta – found on I13033
· cggttatccacagaatca – found on plasmid pSB1AK3
Fragment size 55 bp in the 3’ direction (part) + 195 bp in the 5’direction 

total size = 250 bp
OR

· acctgtaggatcgta – found on I13033
· cgttatgcaggcttcctcg  – found on plasmid pSB1AK3
Fragment size 55 bp in the 3’ direction (part) + 108 bp in the 5’direction 

total size = 163 bp
fv/js

Ligation J37024 = (J37023 + B0015)
AiiA w/FLAG and LVA + terminator
Cutting

J37023 containing plasmid (insert)
Cut with E and S 
Expected Fragment Size = 816 bp
B0015 containing plasmid (vector)
Cut with E and X
Expected Fragment Size = 129 bp + 3189 bp = 3318 bp

Primers

· tgctgaatatgaggcgg  - found on AiiA (J37023)
· cggttatccacagaatca – found on plasmid pSB1AK3
Fragment size = 415 bp in the 3’ direction (part) + 195 bp in the 5’direction 
total size = 610 bp
OR

· tgctgaatatgaggcgg  - found on AiiA (J37023)
· cgttatgcaggcttcctcg  – found on plasmid pSB1AK3
Fragment size = 415 bp in the 3’ direction (part) + 108 bp in the 5’direction 

total size = 523 bp
fv/js
Ligation J37025 = (B0034 + J37024)
AiiA construct to be used in the prey cell (B0034 – RBS + J37024 (AiiA + terminator)

Cutting

J37024 containing plasmid (insert)
Cut with X and P 
Expected Fragment Size = 953 bp
B0034 containing plasmid (vector)
Cut with S and P
Expected Fragment Size = 2079 + 12 = 2091 bp
Primers

· tgctgaatatgaggcgg  - found on AiiA (J37023 w/i J37024)
· cggttatccacagaatca – found on plasmid pSB1A2
Fragment size = 552 bp in the 3’ direction (part) + 117 bp in the 5’direction 
Total size = 669 bp
Fv/js

Ligation J37022 = J04500 + J37024
AiiA test construct made up of J04500 (LacI + RBS) and J37024 (AiiA w/FLAG and LVA J37023 + terminator B0015)

Cutting

J04500 containing plasmid (vector)
Cut with E and X
Expected Fragment Size = 220 bp + 3189 bp = 3409 bp
J37024 containing plasmid (insert)
Cut with E and S

Expected Fragment Size = 953 bp
Primers

· tgctgaatatgaggcgg  - found on AiiA (J37023 w/i J37024)
· cggttatccacagaatca – found on plasmid pSB1AK3
Fragment size = 552 bp in the 3’ direction (part) + 195 bp in the 5’direction 

total size = 747 bp
OR

· tgctgaatatgaggcgg  - found on AiiA (J37023 w/i J37024)
· cgttatgcaggcttcctcg  – found on plasmid pSB1AK3
Fragment size = 552 bp in the 3’ direction (part) + 108 bp in the 5’direction 

total size = 660 bp
fv/js
